< & ¢@>(rad)

< 0dy > (Um)

< opJp, > (%)

Ratio

...............................................

0.05f -+ F St ARSLLLLLLILL ALY
0:— ----------------------------------------

0. 20— MR BRI BT
2 3 T
L +
[ L
I EZ 2k 30 & A
r - 414
I | ']+ N
0.5 ---- FH=ft]------ - SREEEEEEEEEE

2 3
TPlp(?T (PCA t%obeamlinélf)

Tatvector_1000evt

ER TEee
:§§§g§: %&i&?ﬁ—ﬁ%ﬂ%bm@s 1000evt

T

[y
o

~ 10 T

E g_ I 4[4 .l H

801t fH - f 1 = 80------ R RREERLEELEE
L A = Tl + :

60F---- B S ERRRE o R EEEEE L EEEEEEEEEE - 60F------ SR S5 AR K N o i B AR HERERREERERN
- 1 o F : 5 :

A0 v 40 I RN A T

o0 SO I O 3 3 R S 20+ A B AR

i
=

o T S B g T S
05f---- LB e e L L
E b : E by : :
10" 1 10 0 . 10° "o 1 10 02 . 10°
TPp, (PCA tjo beamliné TP, (PCA tjo beamllneP

P {alef -

NEY

-




	Contents
	Page 1


